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Answer any five questions: 5x1=5

(i) Which of the following ion has maximum ionic radius —
(a) Na-
(b) F
(€O
(d)AIP*

(i1) Be is isoelectronic with which of the following ions —
(a) H*
(b) Li*
(c) Na*
(d) Mg *

(iii) According to HSAB theory, which of the following is a soft base ?

(a)CH.COO
(b)CO. %

(c) NO,
(d)H~

(iv) Which of the following pairs is different from the others?
(a)Li-Na
(b) Li-Mg
(c) B-Si
(d) Be-Al



(v) The trans-alkenes are formed by the reduction of alkynes with —
(a) Na/lig.NH;
(b) Sn/HCI

(c) H./Pd - C, BaSO.
(d) NaBH.

(vi) Choose the correct option :
CH.-CH.-CH,=CH_, + HBr + (Organic peroxide) — A
‘A’ s

(a) CH.CH.CH.

(b) CH.CH.CH(Br)CH.
(c) CH.=CH.

(d) CH.:-CH.-CH,-CH.-Br

(vii) The Friedel Crafts reactions using MeCl and anhydrous AlICl.may be carried out
best with

a) Benzene
b) Nitrobenzene
c¢) Toluene
d) Acetophenone

(viii) Which carbocation is the most stable —
(@) (CH.).HC"
(b) H.C*

(c) (CH).C
(d) CH. H.C*

2. Answer any four questions: 4x2 =8
(i) Chloroacetic acid is a strong acid compared to Acetic acid - Explain .
(ii) Write down the drawbacks in the Bohr’s Model.
(iii) Vinyl chloride has a lower dipole moment than ethyl chloride. Explain
(iv) Why is the electron affinity of chlorine more than that of fluorine?

(v) Carry out the following transformation: Acetylene to 2-butyne



(vi) What do you understand about conjugate acid-base pairs?
(vii) Draw all the stereoisomers of tartaric acid mentioning enantiomeric and diastereomeric pairs.

(viii) What do you mean by disproportionation and comproportionation reaction?

3. Answer any two questions: 2x6=12

(i) (a) Draw the structures of (E)-2-choloro-2-butene & (R)-2-hydroxy propanal 3)
(b) Write down the significance of four quantum numbers. 3

(i1) (a) Give a short note on: Wurtz reaction 3
(b) What are the Vander Waal’s radii and covalent radii? (2)

(c) The ionization energy of Na- is more than that of Ne although both have the same
electronic configuration. Explain 1)

(iii) (a) Prepare isopropyl alcohol from propyne by applying following reagents: Aqueous KOH,

Benzoyl peroxide, Lindler catalyst. (3)
(b) Why [Agl.] is more stable than [AgF.] . Explain it by HSAB Principle. (2)
(c) HI is a stronger acid than HCI and HF — explain. Q)

(iv) (a) What are the differences between SN1 and SN2 reactions?
Explain with suitable example. 3

(b) Determine the value x and y in the following balanced equation —
5H.0. + x CIO, + 20H™ — xCI" + yO, + 6H.0 Q)

(c) Explain the fine spectra in the light of Sommerfeld’s first modification. 2



Bengali Version
1.@ @ 66 oW Tod wie - 5x1=5

i) WNEF @FEDT AFNT P FIEET Jzod ?
a) Na*

b) F

c) O*

d) Al

i) fAeT @6 Be?* 97 T ARCTRESE T
a)H*

b) Li*

c) Na*

d) M92+

iii) HSAB © WP A6 (FTA16 (e HITF
a) CH;COO"

b) CO3*
€) NO3
(d)H

iv) T FE (SIS AMT (@ AT
a) Li-Na

b) Li-Mg

c) B-Si

d) Be-Al

V) IMEFRAE AGH @FEG TE [ofEe FAE 5 e S W ?

a) Na/lig.NHs

b) Sn/HCI

¢) H2/Pd — C, BaSO4
d) NaBH4

vi) Sea RfFaE @ah 8o =37



CH3-CH2-CH2=CH; + HBr + ({5 TTIaIA13G) — AA’ is

a) CH3CH2CHs3

b) CH3CH2CH(Br)CHs
c) CH,=CH:

d) CHs-CH2-CH>-CH,-Br

vii) MeCl a3 5% AICI; T/3TF FI@ AGIT @F0T (F@ HoT-Fey [AiF @ S
5 ?

a) (If&
b) ARE 3

c) 53
d) STGEEEa

Viii) MEF @ FEFCIAT TIEF SJFe -
a) (CHs)HC"

b) HsC*

c) (CHs)sC*

d) CH3H.C*



2. (@@ 5136 ATAT BT w13 4 X 2=8

i) smifes smfites gaarw @EIET St snifre Sta amifirs 1T 77 |

i) (ATT V(ST F6 SV F7 |

iii) FSATRT FTITRIST QAT RATR FTIRCST AF ITNEFT N @PT (@2 I 57 |
iv) FSfIET Q1T FIfIET TEF G ASfET W9 ATHF (@2 AT F7 |

V) FIZIT FJ3 MO (NF 2- [TOo1RT

vi) AGIH IIG-HTIF I T @TR?

vii) BTIBIRF an1fitea WETRY SRCIAET T S@y F7 | AT N (@19 GBS
AFTEAFTSATT AT (F1 @SG STHREfIaaI?

viii) fETTATAICIIENT a9 FHCATAICIENS (IFHAT I00 F @2

3. @ @1 g6 AT TaF wId 2x6 = 12
i) a) STO (Y - (E)-2-FTET-2-fFSBF a2 (R)-2-TRSIH AT 3
b) 51316 (FTITBTH TATT ST T (T | 3
i) a) foFT (- SF f3fFaT | 3
b) SITSTT ST T 3 AN I T I (TN 2 2
CREFHT AT 972 T3TT N3 Na* 97 ATAIT B9 fIS@I N Ne 97 QAT AfH
qf%a (@ ? IAT FF | 1

iii) a) ST KOH, (RTATIA MIAH|TIG 972 ST FAGHEF 17T FF (TTTRT (ATF AIC

(AT FreTT TFe FIE ? 3

b) [AgF,]” a7 @oaTX ) [Agl.]” T4 S[f5e - TTAT F7 1.

c)HF 38 HClag QaaTx HISHT SIifis | Iprayy 37 | 1
iv) SN1 a3 SN2 fafFmTa ey srfwy Ft2 S7gF SwIRaT T [T F31 3

(b) fAITET TMFITT x 972 y AT T o7 F@ET -
5H,0, + x CIO, + 20H™ — xCI~ + yO, + 6H,0
(c) CTTATAHIBT TAN AFGFHRE AT 97 AN STH IATAT 74T FET 2





